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A lent Rs. 6000 to B for 3 years and Rs. 7000 to C for 4 years on simple interest at

same rate of interest and received Rs. 4600 in all from both of them as interest. The

rate of interest per annum is:

AT 6000%. B 3 AT ok T8 3T 7000 T C U 4 I ok {70 THTH AT &Y WX SR T
I AT A HeA THEATRT 4600 U FTLRUT ST o &Y § ATH R Tl o samt hl T &:

1)5% 2)10% 3)15% 4)20%
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Divide Rs. 6000 into two parts so that simple interest on the first part for 2
years at 6% p.a. be equal to the simple interest on the second part for 3

years at 8% p.a. Find the first part .
6000 To= T 3T THR 3¢ 9T H i i qrfer ager 9T W 2 99 & 1w 6% ufa o fir

| |TLROT AT, TA AT W 3 96 o forg 8% uftr e <t =3 & Arermor st & sRer 2 . ugett

T @i
1) 2000 2) 4000 3) 2500 4) 1500




2= I MISSION SSC 2023 Z8IT\ TRV

A certain sum of money put at a rate for 4 years at simple interest. If it had been put
for 5% higher rate, it would have fetched Rs.2500 more. Find the sum?

Ueh Ffare widt st ETameT SISt UX 4 99 i S E T AT 8| T W 5% 3TTreh W
TATTAT SATAT, a7 T8 2500 TUX 37Tk UTH ShIdT| 9T T hifere? MTS 2017

1)18000 2)15000 3) 12500 4)16000




A man deposited same amount in two banks separately for 4yrs. and 6yrs. respectlvely

at the same rate of 6% p.a. at simple interest, and he got Rs. 14400 as the difference of

simple interest from both the banks. Find the total sum of money.

Ueh 3TTEHT = T 3TN ekl H FHTT AT ShH9T: 4 I9 37X 6 I ok {10 6% Ud au shi a7 &
TTLUT AT U {497 Sh¥aT 2, 37 3H 24T dehl § UTH FTLT TS Rl 37a¥ 14400 TUF F |

el TTIOT FTA <hlTeTd |
1. 120000 2. 125000 3.210000 4. 240000




2= I MISSION SSC 2023 Z8IIT\ (TR

In how many years simple interest obtained on Rs. 8000 at 3% per annum will be eqal

simple interest on Rs. 6000 at 4% for 5 years?

8000 TUY UT 3% Ut a¥ Tehad aW H &l ATLTUT ST UTH ATk 6000 & U 5 ATA ok {10
4% Tt 99 o T2ETT § UTH HTIHUT ST o THT BHIT 2

a) 4 years b)Syears c¢)6years d)8years




2= I MISSION SSC 2023 AT\ TRV

Simple interest on a sum of money will be Rs 2235 after three years. If in the next 5 yars

principle becomes 3 times of the previous principle. What will be the total interest in

eight years ?

A 9 a1 foRET SARTTST UR |TERuT SATST 225 A TR ATE 3T 5 a6t § g fuse
AL RT3 THT BT SATAT 2| TS THI H hel SATS feha =T ZRIT?
a) Rs. 1275 b) Rs. 1350 ¢) Rs. 1735 d) Rs. 985




y MISSION SSC 2023 /TN [ IV

On a principal, Rs.700 Simple interest is obtained after 8 year. If the principal is

reduced to half itself then after 4 years, how much SI will be obtained?
T HeTeH UX 700 S ATLR0T ST § AT 18 ATH BId. 51 ATS TAL i TSTHRT HATUT
T wITu 1 4 o @1 feRaaT wTeRUT ST I g

(a) 350 (b) 175 (c) 1050 (d) 525




y MISSION SSC 2023 /BTN [ IV

A sum of 2000 in invested on simple interest for three years at the rate of 10% per
annum, then the amount will be.

2000 KT TIT ATLRUT AT T A1 TH ok foTT 10% ATTSw hT A a9 ht ATt 2, 9 awisT
TTH ERMI(SSC MTS 2019)

(2) Rs 2900 (b) Rs. 2600 (c) Rs. 2300 (d) Rs. 2500




2= I MISSION SSC 2023 8NN (TR

A person invested Rs. 12,000 on simple interest for 7 years to obtain a total amount of

Rs. 20,400 on a certain annual rate of interest. What was the rate of interest to obtain

the above amount?

T SATh 3 12,000 T 7 FaeT foram 20,400 T &Y Tet T ITH &3 & 770 7 9t & 77y
ATURUT ST hi Teh AT aTites gX R 9T ToRaT | SURIR IS UTH i o foTe st <t
T T ofT? (SSC CPO SI 2020)
(2) 8% (b) 7% (c) 9% (d) 10%




y MISSION SSC 2023 ANV [ IV

A certain sum of money (in Rs.) was invested for 5 years at the rate of x% simple

interest per annum. If it is invested at the rate of interest (x + 5)% per annum, the
simple interest earned is Rs 9200 more than before. What was the original principal?
ueh FAfara afsr (vud ) ufa a9 x% aramer sarst hr S @ 5 a9 & forv fFayr iy st 21 afe
T ST (x + 5)% Tfa o Y 2% | Fraer feran s 2, o erfsta wmermor sarst uget &Y qern
H 9200 EUI FFeeH gl WeTg= AT AT2(SSC CPO SI 2019)
(a) Rs. 35800 (b) Rs. 36800 (¢) Rs. 36400 (d) Rs. 40000




Y MISSION SSC 2023 BT\ [; 04

The rate of simple interest on a sum of money is 5% p.a.. for the first 4 years, 8%

for the next 3 years and 10% p.a. for the period beyond 7 years. If the simple interest
accrued by the sum over a period of 10 years is Rs. 1,850, then the sum is:

ToRElT &ARTTIT UR ATEIRUT SATST ShY &X UEeT 4 N1 oh foTT 5% JTTWeh 2. 37T 3 AT oh {eTT 8%
TR 3T 7 TN A ATk hi AAT ok ToTT 10% TTd T 21 Tl 10 T hl AT | STRia
HTYOT ST B9 1,850 Bl A1 HETEM AT shiferd 8
(a) Rs1,650 (b) Rs.2,750 (¢) Rs.2,500 (d) Rs.1,500




y MISSION SSC 2023 /TN [ IV

The rate of interest for the first 2 years is 3% p.a., for the next 3 years the rate of
interest is 8% per annum, and for the period exceeding 5 years it is 10% p.a. If a person

gets Rs 1520 in simple interest for 6 years, then how much money did he deposit?

Ugel 2 N1 o {70 ST & 3% T 99 8, 30T 3 A6T oh 1w sarst <ht ¥ 8% afa a9 &, 2
5 I o 3tfereR hY erafer o foru a7 10% afa ot 21 afe v safee &t 6 aw o foru aremon
SITST 0¥ 1520 9 foera 2, a1 3@ forast emRrfst ST hr2(UP SI 2016)
(a) Rs3600 (b) Rs. 3750 (c) Rs. 4000 (d) Rs. 3800




A sum of money becomes Rs 1020 in 5 years and Rs 1200 in 8 years at simple 1nterest

What is the value of principal?

FTLRUT ST X ek AT 5 T4 H 1020 FIA 3R § T H 1200 T &1 SATAT 3| TeTeI T 872
(SSC CPO SI 2017)

(a) 820 (b) 780 (¢) 700 (d) 720




D LTEETETFTY MATHS

A sum lent out at simple interest becomes Rs 6,076 in one year and Rs 7504 in 4 years

What are the principal and the rate of interest per annum respectively:

HTLRUT AT U IR &Y T3 T Tk 9 | 6,076 TUY 3R 4 T6T H 7504 TG g1 AT 2
HeAe SR T T SATST Y T THAI: F4T 2:(SSC CGL Tier-11 2018)

(a) Rs. 5,600, 9% (b) Rs. 5,600, 8.5% (c¢) Rs. 5,400, 9% (d) Rs. 5,400 ,10%




A sum at a certain rate of simple interest becomes Rs. 14880 after 3 years and Rs, 16800

after S years. Find the simple interest on the same sum at 10% per annum for 4 years (in

Rs.)
TTATUT ST <hl Ueh TSI 2¥ U Ueh 19T 3 UTA a1 14880 TUH TR 5 TTA 1€ 16800 FUX

TN SATAT §1 TET AT U 10% TFraTs ¥ G 4 AT SR WTLROT ST T KT (T H)
(2) 4740 (b) 4800 (c) 4860  (d) 5184




y MISSION SSC 2023 /TN [ IV

Raghu took a loan of Rs 14500 for 3 years at 10% rate of simple interest.

Find amount Raghu has to paid.
T 14500 & 3 9 ok 11U 10% HTENUT AT UF SR0T il & | T g T5n

=T forer T e shifer
1. 16850 2. 17550 3. 18850 4. 19500




A sum of money fetches Rs. 2460 as simple interest at the rate of 5 p.c.p.a. after 6 years.

What is the principal ?
TeRet TIPS & T 5 % Tid W Y 5 U 6 19 o Te1U 2460 T. ST UTH BT & HeAe  ATd

Hir .

(1) Rs. 8200 (2) Rs.4000 (3) Rs. 8300  (4) Rs. 1,200




y MISSION SSC 2023 /BTN [ IV

Girish invested a certain amount at the rate of 8 p.c.p.a. for 6 years to obtain an

amount of Rs. 28,046. How much amount did Girish obtain as simple interest?

FTrreT 1 weR FAfare TivT 8% Ufaas Y =X wR 6 I <k feru fareT femaT o 28046 ©. amRTieT
ITH YT 2 fereT T 3@ Aremur st o F U H U EY 2

(1) Rs. 12,550 (2) Rs. 9,096 (3) Rs. 18,950 (4) Cannot be determined




y MISSION SSC 2023 /TN [ IV

A certain sum of money at certain rate of interest becomes 2000 in 2 years at simple rate

of interest and 2500 in next 5 years. Find the rate of interest ?

SITH chl TAT2Id &Y UX Ueh THT2Id TIT9T ATLATHOT AT 23 UT 2 91 | 2000 3T 37T 5 a9t |

~

2500 2T SATAT 21 SATST =X T hlITT?

2

155"/ 2.3 =% 3 li"/
. 9 0 . 5 0 . 5 0




y MISSION SSC 2023 /TN [ IV

If the simple interest for 5 yrs. be equal to 20% of the principal, in how many years

it will be equal to the principal?
i3 5 I H UTH HTLRUT AT AU ok 20% oh SR 2, Tohd T H I8 A4 &

STER ZRTT?
1. 25 2.20 3. 25 4. 30




y MISSION SSC 2023 /TN [ IV

If simple interest on ¥ 600 for 4 years and on T 600 for 2 years combined together is

¥ 180, then find the rate of interest.
afs 4 991 o TTT 600 T WX 3R 600 T X 2 6T o {70 HI® & E VTLRIT AT £ 180

2, a1 ST <hY =X KT UaT «TT0)
(a)4%  (b) 5% () 5.5% (d) 6.25%

23



y MISSION SSC 2023 /BTN [ IV

Ashok invested in three schemes A, B and C the amounts in the ratioof2:3 : 4

respectively. If the schemes offered interest @ 20 p.c.p.a. 10 p.c.p.a. and 15 p.c.p.a.
respectively, what will be the respective ratio of the amounts after one year?

MR J A AT A, B AT C | 2 :3 :4 % TUT | o (awr ferar afg asrmett &
HAI: 20 % , 10 % TUT 15% T G U TS THEAAT § 1 Ueh TH TSI ST STUTA ST ST 2
(1)10:8:5 (2)24:33:46 3)12:15:22 (4) None of these [




y MISSION SSC 2023 /TN [ IV

The difference between the simple interest on a fixed amount for 7 years and on the
amount for 12 years is Rs. 2,500. If the rate of interest is 10% p.a., then the amount is —
uek fAfera Uit ux 7 ol o aremor ST S 12 awt o forg Tist ur aremur s o st et
A E. 2500. TS AT T T 10% T TH &, T AT -

(a) Rs, 6,000 (b) Rs. 5,000 (c¢) Rs. 4,500 (d) Rs. 5,500




y MISSION SSC 2023 /BTN [ IV

A sum amounts to Rs.17400 at 7% p.a. simple interest in Syears. What will be the

simple interest on the same sum at 6% p.a. in 4.5 years?

Teh &ARTIOT 5 9T | 7% Tfd a9 ok HTMRUT AT X E.17400 B ATt g1 SHT TAHT W 6%
Tfa o il S 4.5 T H AIUROT AT FoRa= T 2em?
(a) Rs.3,715
(b) Rs.3,627
(¢) Rs.3,480
(d) Rs.3,672







